
 
i.5

2,5
 

 
e.

54
 

 
e.54 

 120 

 
85

 

 
e.

50
 

 105 

Pipe N° 1156
Cod. 3080001201

Knurled Nut M8
Cod. 200298

2 Strap-in Stainless 
steel Ø57
Cod. 300057530

Allen screw M8x45 T.CE.I
Cod. 201450

Plain washer Ø8xØ24
Cod. 200321

2X Knurled Nut M8
Cod. 200298

2X Allen screw M8X20  
Cod.200722

Aluminium spacer
ø27X8,5X11 
Cod. 204321

i. 5
4,5

0

SILENZIATORE ORIGINALE
STOCK SILENCER
OR
LEOVINCE SILENCERS Art.15201-15201B-15201T

ART. 80001 YAMAHA YZF-R1/M 
Collettore INOX / Stainless steel header pipe

per l'eliminazione del catalizzatore originale / kat eliminator link pipe

2x "OPTIONAL"
Cod.204157

- Disconnect the control cables from the exhaust valve on the actuator side; 
   by removing the original link pipe with the catalytic converter, 

  also the valve connected to the link pipe and the cables are removed. 
  The valve’s servo motor should not be removed or disconnected.

WARNING
  

   - Fitting the cat eliminator it is advisable to optimize the carburation by remapping 
  the stock ECU or by adopting an additional ECU unit.


	DT-80001
	Vista del disegno11
	Vista del disegno16


